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Question

My profound respect and warmest greetings to Dr. Vaniya. Allah grant
him a long and healthy life.
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In ©JST the 72”is the mark of the feminine and the subject is mustatir

(silent).
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But in u.lf i, the nin is the mark of the subject (£2%/) and also the

mark of the feminine.

I am confused.



Fadilat al-Shaykh Dr. V. Abdur Rahim (:‘»\ aki>) replies:
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l. You explain = as silent. This is not correct.
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S%ws  means hidden, i.e., it has no form in writing, and so it does not

physically exist, but it exists in our minds.

Now, in IS the 2’is not the £/ because the verb takes a £35/ as
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But in:
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the 725/ is the hidden pronoun.
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The t4° cannot be the damir, for in that case in —-— ) LY

- the verb has two 72%/s which is not possible.

2. You say:
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’But in blﬁ, the nan is the mark of the subject.’

Your expression is not correct.
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The nin is the subject. It is not the mark of the subject.
It is the subject because no subject can come after it.

So you cannot say,
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I hope this is clear.
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